Although Nora has responsibilities to her family, she is justified to leave them because… 3 reasons

Although Nora is treated poorly by Torvald, she is not justified to leave her family because… 3 reasons 

Although Ibsen begins the play with traditional gender roles, Ibsen’s conclusion presents modern gender roles because… 

Although the play seems dramatic, the play is realistic because… 
[bookmark: _GoBack] The characters are complex, the conflict is relatable, and the setting is believable.  
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